
https://www.geekcert.com/cwt-100.html
2024 Latest geekcert CWT-100 PDF and VCE dumps Download

 

 

 

CWT-100Q&As

Certified Wireless Technician

Pass CWNP CWT-100 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/cwt-100.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CWNP
Official Exam Center

 

 

CWT-100 VCE Dumps | CWT-100 Study Guide | CWT-100 Braindumps                                1 / 3

https://www.geekcert.com/cwt-100.html
https://www.geekcert.com/cwt-100.html
https://www.geekcert.com/cwt-100.html


https://www.geekcert.com/cwt-100.html
2024 Latest geekcert CWT-100 PDF and VCE dumps Download

QUESTION 1

You are using 802.1X/EAP for enterprise authentication for your WLAN. Where must the RADIUS server\\'s IP address
be configured to enable this for the WLAN? 

A. Wireless desktops 

B. Subnet router 

C. Wireless laptops 

D. AP 

Correct Answer: D 

 

QUESTION 2

What is the maximum channel width recommended in the 2.4 GHz frequency band for 802.11n devices? 

A. 80 MHz 

B. 20 MHz 

C. 40 MHz 

D. 10 MHz 

Correct Answer: B 

 

QUESTION 3

In addition to modulation, coding and spatial streams, what has the most impact on available data rates in a WLAN
link? 

A. Output power of the AP above 100 mW 

B. Output power of the client above 100 mW 

C. Antenna gain above 11 dBi 

D. Channel width 

Correct Answer: D 

 

QUESTION 4

You have implemented an 802.11 security solution that requires certificates. What are you using? 

A. WEP 
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B. WPA2-Enterprise 

C. WPA-Personal 

D. WPA2-Personal 

Correct Answer: B 

 

QUESTION 5

What can occur when two copies of a signal wave arrive at the receiver at the same time, but 180 degrees out of phase
which each other? 

A. Increased signal amplitude 

B. Bits may be added to the total count 

C. Increased signal strength 

D. Signal nulling or cancellation 

Correct Answer: D 
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